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Fifth Semester 

Economics — Main 

Major Elective — LABOUR ECONOMICS 

(For those who joined in July 2017 onwards) 

Time : Three hours Maximum : 75 marks  

PART A — (10 × 1 = 10 marks)  

Answer ALL questions. 

 Choose the correct answer : 

1. ªP÷ÁP©õP AÈ²® EØ£zv Põμo Gx? 

 (A) EøÇ¨¦  (B) ‰»uÚ® 

 (C) {»®   (D) CøÁ AøÚzx® 

 Which is the highly perishable factor of 
production? 

 (a) Labour  (b) Capital 

 (c) Land   (d) All the above 
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2. G¢u ÁøP öuõÈ¼À öuõÈ»õÍº ¤μa\øÚPÒ 
AvP® EÒÍx 

 (A) ]Ö öuõÈÀ (B) Siø\z öuõÈÀ 

 (C) ÷£μÍÄ öuõÈÀ (D) GxÄªÀø» 

 Labour problems arise largely in ——————— 
industry. 

 (a) Small scale (b) Cottage 

 (c) Large scale (d) None of the above 

3. EøÇ¨¤ß Ch® ö£¯ºÄ –––––––– Põμoø¯ 
\õº¢xÒÍx. 

 (A) _ØÖa `ÇÀ (B) ö©õÈ 

 (C) £ÇUP ÁÇUP® (D) CøÁ AøÚzx® 

 ——————— factors determine the labour 
mobility. 

 (a) Environment (b) Language 

 (c) Custom  (d) All the above 

4. öuõÈ»õÍºPÒ £oUS Áμõø©UPõÚ Põμn[PÒ  

–––––––– 

 (A) _PÃÚ®  (B) öuõÈØ\õø» 
Â£zx 

 (C) \©¯ ÂÇõUPÒ (D) CøÁ AøÚzx® 
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 ——————— are the reasons for the 

absenteeism. 

 (a) Sickness  

 (b) Industrial accidents 

 (c) Religious festivals  

 (d) All the above 

5. G¢u Bsk C¢v¯ öuõÈØ\[P \mh® 

E¸ÁõUP¨£mhx? 

 (A) 1921   (B) 1926 

 (C) 1936   (D) 1948 

 Which year the Indian trade union Act was 

passed? 

 (a) 1921   (b) 1926 

 (c) 1936   (d) 1948 

6. öuõÈÀ uPμõÖ \mh® C¯ØÔ¯ Bsk Gx? 

 (A) 1926   (B) 1876 

 (C) 1929   (D) 1950 
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 When was the trade disputes Act passed? 

 (a) 1926   (b) 1876 

 (c) 1929   (d) 1950 

7. C¢v¯õÂß •uÀ öuõÈ»õÍº Aø©¨¦ –––––––– 

BS®. 

 (A) Bombay mill-hands association 

 (B) Indian trade union congress 

 (C) All India trade union congress 

 (D) GxÄªÀø» 

 The first labour union in Indian was —————— 

 (a) Bombay mill-hands association 

 (b) Indian trade union congress 

 (c) All India trade union congress 

 (d) None of the above 

8. C¢v¯õÂÀ G¢u Bsk SøÓ¢u£m\ Fv¯ \mh® 

öPõskÁμ¨£mhx? 

 (A) 1947   (B) 1948 

 (C) 1950   (D) 1958 
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 When was the minimum wage Act passed in 

India? 

 (a) 1947   (b) 1948 

 (c) 1950   (d) 1958 

9. \•P £õxPõ¨¦ vmh® Gøu GÀ»õ® 
EÒÍhUQ²ÒÍx? 

 (A) K´Ä Fv¯® (B) ©¸zxÁ EuÂ 

 (C) Põ¨¥k  (D) CøÁ AøÚzx® 

 ——————— are included in the social security 

schemes in India. 

 (a) Pension  (b) Medical benefit 

 (c) Insurance (d) All the above 

10. £ßÚõmk öuõÈ»õÍº Aø©¨¦ G¢u Bsk 
E¸ÁõUP¨£mhx 

 (A) 1885   (B) 1920 

 (C) 1919   (D) GxÄªÀø» 

 When was the international labour organisation 

started? 

 (a) 1885   (b) 1920 

 (c) 1919   (d) None of the above 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 250 words. 

11. (A) EØ£zv°À EøÇ¨¤ß £[QøÚ GÊxP. 

  Write the important role of labour in 
production. 

Or 

 (B) öuõÈ»õÍºPÒ Ch®ö£¯ºÄUPõÚ Põμn[PøÍ 
TÖP. 

  Narrate the causes of labourers migration. 

12. (A) öuõÈ»õÍºPÒ £oUS Áμõ©À C¸¨£uØPõÚ 
Põμn[PøÍ Bμõ´P. 

  Examine the reasons for the absenteeism. 

Or 

 (B) öuõÈØ\[P[PÎß ÷|õUP[PøÍ ÂÍUSP. 

  Explain the objectives of trade unions. 

13. (A) öuõÈÀ |¼ÁøhÁuØPõÚ Põμn[PøÍ 
TÖP. 

  Point out the causes for industrial sickness. 

Or 
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 (B) Tmk¨ ÷£μzvß ]Ó¨¦PøÍ u¸P. 

  Bring out the importance of collective 

bargaining. 

14. (A) öuõÈÀ uPμõÖ HØ£kÁuØPõÚ Põμn[PøÍ 

Bμõ´P. 

  Examine the reasons for industrial disputes. 

Or 

 (B) C¢v¯õÂÀ öuõÈ»õÍºPÒ PÀÂ £ØÔ SÔ¨¦ 

ÁøμP. 

  Write a note on workers education in India. 

15. (A) £ßÚõmk öuõÈ»õÍº Aø©¨¤ß ÷|õUPzøu 

GÊxP. 

  Write the objectives of international labour 

orgaisation. 

Or 

 (B) C¢v¯õÂÀ öuõÈØ\[P[PÎß ÁÍºa]ø¯ 

ÂÁõvUP. 

  Discuss the growth of trade union 

movements in India. 
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PART C — (5 × 8 = 40 marks)  

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 600 words. 

16. (A) C¢v¯ öuõÈ»õÍºPÎß ]Ó¨¦ C¯À¦PøÍ 
ÂÍUSP. 

  Explain the special features of Indian 
labourers. 

Or 

 (B) öuõÈÀ \[P[PÎß £À÷ÁÖ ÁøPPøÍ 
SÔ¨¤kP. 

  Point out and explain the different types of 
trade unions. 

17. (A) öuõÈÀ \[P[PÎß £À÷ÁÖ £oPøÍ 
Bμõ´P. 

  Examine the various functions of trade 
unions. 

Or 

 (B) C¢v¯ öuõÈÀ \[P[PÒ Gvº öPõÒÐ® 
¤μa\øÚPÒ ¯õøÁ? GßÖ Bμõ´P. 

  What are the problems of Indian trade 
unions? Critically analysis. 
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18. (A) {ºÁõPzvÀ C¢v¯ öuõÈ»õÍºPÎß 

£[QøÚ ÂÍUSP. 

  Explain the role workers participation in 

management in Indian industries. 

Or 

 (B) öuõÈÀ uPμõÖPøÍ wºUS® £À÷ÁÖ 

ÁÈ•øÓPøÍ ÂÁõvUP. 

  Discuss the various methods for settlement 

of industrial disputes. 

19. (A) C¢v¯ öuõÈ»õÍºPÐUS Hß öuõÈ»õÍº 

PÀÂ ÷uøÁ Gß£øu ÂÁ›UP. 

  Describe the need of workers education for 

Indian workers. 

Or 

 (B) £ßÚõmk öuõÈ»õÍº Aø©¨¤ß £oPøÍ 

Bμõ´P. 

  Analyse the functions of international labour 

orgaisation. 
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20. (A) C¢v¯ öuõÈ»õÍº |»U öPõÒøPPøÍ B´Ä 
ö\´P. 

  Critically review the labour welfare schemes 
in India. 

Or 

 (B) C¢v¯õÂÀ \•P¨£õxPõ¨¦ vmh® 
ö\¯À£k® •øÓ°øÚ ÂÍUSP. 

  Explain the working of social security 
schemes in India. 

——————— 


